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He should not pay — oo RY

OVERVIEW

The X3 derives the rule of 79°212 0¥95un 092 from the P1od of' 29w XY 79V 7Y,
which is written concerning a 73w 1w. Our NMO0IN anticipates a difficulty with this
719, and resolves it

mMooIn anticipates a difficulty:
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Even though the o5 of 0w XY 757V "2 717V OXR is written concerning a paid

watchmen who is exempt from paying for unavoidable mishaps; The 7™n teaches us
in this P09 that a " is completely 7105 by 1°01%; how can we derive from this 105 that when
there is a 211 to pay, nevertheless the 0°%¥2 are 7°213 D¥9oun? 1

mooIn responds:
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Nevertheless since it is written 25w X% 797u7 7v (up to the 75°7w [he should

pay, but] he does not pay [for the 75> itself]) -
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We can derive a general rule that whenever he does pay, he does not pay
anything for the 797 itself, for 75°112 o°%5un oova.

SUMMARY
The 0%w° RS 19™W7 7V 7109 teaches us that whenever there is payment it does not
apply to the 79 7v.

THINKING IT OVER

The X713 explains that we derive the rule of 717°212 2°95vn 0°%v2a from the 0o of T
oW X9 19707 (the word 7Y to mean until). Seemingly this P10 reads that you do
not pay 1197011 7V; however we wish to derive that you do pay 15717 7V and you do
not pay for the 715™10. How are we to read this p105 of 2w & 97077 792!

2 o (o°wown) NMnw. The 0D reads: DYW> XY 7397LA TV AR 770 77w oX; which translates to; if it was killed he
should bring a witness; he need not pay for the killed (animal).

? This p102 is teaching that the w"w pays nothing; not that he does not pay for the 7™ !

3 The 710 could have written 092° X% or something similar; the fact that the 770 writes o?w> X2 19707 [7v], teaches
us that payment is only until the 79°70; the 79"V itself, however, need not be paid for. Alternately, the 770 needs to
teach us that he does not have to pay 7157077 7v, because he is an 01X (indicating if he were not an 01X [or by P11
where 01X is 2°11], he would have to pay); however concerning the 9™v itself, even if he was a Y19 he would be
T1s, for 79°212 o°7oun °%va. See ‘Thinking it over’.

* See 7"nR, and footnote # 3 [Alternately,...].
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